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Time : 3Hrs. Sem. V - Mech.
AMP

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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In EDM process, the work piece is connected
to:

(a) Positive

(b) Negative

(c) Earth

(d) None of these
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In LBM, material removal is taken place by:
(a) Melting and vaporisation

(b) Electrolysis

(c) Erosion

(d) All of the above
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OR (372rd)

Explain the need of repair cycle analysis in

maintenance of machine tool.

3N SUPRYT & WIRWId § AT dh
fagayor &) AR B AT BN |

Define maintenance. Explain different types of

maintenance with examples.

HSA| &I YR &Y | I<TER0T & 4ieT
Hea=g @ A= yaRl @) arer & |

OR (3121d)

Explain the general element of special purpose
machines (SPM).
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SPM stands :

(a) Special power machine
(b) Special purpose machine
(c) Specific purpose machine

(d) Specific power machine

12‘\':[oti)[oQ'l=[o gidT 28—
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Automation may be:
(a) Fixed

(b) Programable

(c) Flexible

(d) All of the above
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OR (3121a1)

Explain servo- control system with block diagram.

D IR & Grel 9di fFa=3o1 gorell &)
IRAT BN |

Write the difference between CNC and NC.

HToTo¥To AT THoHlo @ €9 3fax @l
ford |

OR (3121a1)

Explain the meaning of following code.
(a) GO2
(b) G90
(c) M09
(d) MO5

frr=faRaa dIs & Aded AHsIY |
(31) Go2
(¥) G0
(|) M09
(8) Mo05
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Close loop control system operates :
(a) With feedback system

(b) Without feedback system

(c) Both (a) & (b)

(d) None of these

Follol U dold RRed ... Harferd
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Z-axis in CNC milling is the axis of :
(a) Main spindle

(b) Vertical axis

(c) Horizontal axis

(d) All of the above
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Answer all Five Questions.

ol uig g & SR o

2.

4x5 =20

Write different properties of the dielectric fluid used
in EDM.
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Automatic tool changer is used for:
(a) Change the tool in seconds

(b) Increase flexibility

(c) Decrease total production time
(d) All of the above

arferd <d Ao} BT SUINT ... P
forg fopar wirar 21

(@) ¥®s ¥ TA dqaA

(@) vawifafafe se™
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The PLC is used in:

(a) Machine tools

(b) Automated assembly equipment
(c) Moulding and extrusion machines
(d) All of the above
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